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MODULE A 

  2007 מועד קיץ – 'בגרסה ' אשאלון 

  )401, 016102: שאלונים(

  

  .להלן תשובות אפשריות לפרק זה של הבחינה

 .לחלק מהשאלות, שאינן מוזכרות כאן, חשוב לזכור כי תיתכנה תשובות נוספות

PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (UNSEEN) 

 

ONE OF THE FOLLOWING: 

 because he read slowly. 

 because he sometimes made mistakes. 

 because the children laughed at him. 

1. 

  

(i) found a special program for him  2. 

  

(ii) he is alone with the dog  3. 

  

(i) listened quietly to Tom 

(v) looked at Tom all the time 

4. 

  

NO 5. 

  

ONE OF THE FOLLOWING: 

 because his reading improved. 

 because he feels more confident. 

 because he enjoys reading.  

6. 

  מוגש על ידי, פתרון הבחינה

  "יואל גבע"בתי הספר של צוות המורים לאנגלית ברשת 

  ,נחמה מצנר, מיכל חכמון, אורית הולנדר

  גניה אטד וארז צרפתי, דנה דרורי
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ONE OF THE FOLLOWING: 

 because the city needs water  

 to save the city's water.  

 because this winter they did not have enough rain. 

7. 

  

(1) Turn off the water when you shampoo your hair.  

(2) While you are brushing your teeth, don't leave the water on.  

8. 

  

(iii) water plants 9. 

  

TWO OF THE FOLLOWING: 

 (they can) water the grass only twice a week.  

 (they can) wash their car with a bucket of water instead of using a hose.  

 (they can) plant flowers that don't need a lot of water.  

10. 

  

PART II: ACCESS TO INFORMATION FROM SPOKEN TEXTS 

  

(ii) fixes broken bicycles 11. 

  

NO 12. 

  

(iii) The children.  13. 

  

(ii) Jim bought bicycle parts. 

(iv) The neighborhood was clean.  

14. 

  

(ii) help the children 15. 

 


